SA: AT

o MBS N (SZES/HIIS)

Chel: ME HOIS SEH R
2A -3 .- G9(3) - NREA - Off &4 JNEA Hlusz
SPI22| SEH(2D) 105,280 0 105,280

2 105,280 0 105,280

308 KHXISHHISOIA 105,280 0 105,280
2 105,280 0 105,280

01 RIXISHZAEES 105,280 0 105,280
OZHUOIE XIESTHHEI AIHAIY X 105,280 0 105,280

2 105,280 0 105,280

SEHHIEY H2AY(2D) 206,700 0 206,700
=2 206,700 0 206,700

308 KHXISHHISOIA 206,700 0 206,700
2 206,700 0 206,700

01 MRISHZAERS 206,700 0 206,700
Os=HHIY 42 X2 206,700 0 206,700

2 206,700 0 206,700

HIIZH2IAl LS 14,014,733 12,398,733 1,616,000
2 10,454,000 9,454,000 1,000,000

= 3,560,733 2,944,733 616,000

JIEHAFID] M2lAlE EXI(21) 6,078,200 5,928,200 150,000
= 4,940,000 4,940,000 0

= 1,138,200 983,200 150,000

403 XHXIEHHIS KH20IH 6,078,200 5,928,200 150,000
= 4,940,000 4,940,000 0

= 1,138,200 988,200 150,000

01 XXM 2L X 6,078,200 5,928,200 150,000
OMBID| AAIE HXI(144) 3,959,000 3,809,000 150,000

2 3,174,000 3, 174,000 0

= 785,000 635,000 150,000

SAEHDISSEHRIAL(2D) 5,866,000 4,400,000 1,466,000
2 4,000,000 3,000,000 1,000,000

= 1,866,000 1,400,000 466,000

403 XHXISHHIS XH2OIE 5,866,000 4,400,000 1,466,000
= 4,000,000 3,000,000 1,000,000

= 1,866,000 1,400,000 466,000

01 XXISHH 22X 5,866,000 4,400,000 1,466,000
oM AZAIL &X 5,866,000 4,400,000 1,466,000

= 4,000,000 3,000,000 1,000,000

= 1,866,000 1,400,000 466,000

TS HEH (B A2 S/t 9,345,726 8,852,726 493,000
2 1,646,000 1,386,000 260,000

3 4,923,000 4,923,000 0

= 2,776,726 2,543,726 233,000

NeleE BE U AL &5 8,067,660 7,767,660 300,000
S 1,110,000 850,000 260,000

3 4,923,000 4,923,000 0

= 2,034,660 1,994,660 40,000
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SA: BETHD

Hu: NHSYRH(BBEE/X0)

ol RoEE 2R U AL &5 EEREDN
SA -2 . A(3H) - NIBANY - BHES Oil &+ 24 JIEH Hus2
RAE] 24012 KR (2D) 60,000 0 60,000

=2 60,000 0 60,000

308 XHXICHHISOI® 60,000 0 60,000
= 60,000 0 60,000

01 XXSHBA2ES 60,000 0 60,000
OXIME] 240t XY 60,000 0 60,000

2 60,000 0 60,000

SIROESMHS A DST2 (2 D) 390,000 150,000 240,000
=2 300,000 100,000 200,000

= 90,000 50,000 40,000

308 XHXISHHISOIR 390,000 150,000 240,000
= 300,000 100,000 200,000

= 90,000 50,000 40,000

01 XIXISHHZAE 390,000 150,000 240,000
OHIREXITH MEHZE DS &2 390,000 150,000 240,000

2 300,000 100,000 200,000

= 90,000 50,000 40,000

DS - A2 E5 B2 1,278,066 1,085,066 193,000
= 536,000 536,000 0

€ 742,066 549,066 193,000

oSS PRBLIME 2 (21) 247,000 174,000 73,000
= 74,000 74,000 0

< 173,000 100,000 73,000

307 BI2HOI 247,000 174,000 73,000
= 74,000 74,000 0

< 173,000 100,000 73,000

02 BIAFMBE 247,000 174,000 73,000
OOHNSES PEBIME 2 247,000 174,000 73,000

2 74,000 74,000 0

< 173,000 100,000 73,000

Ol - M2 25 404,000 354,000 50,000
207 ALY 250,000 200,000 50,000
NIEEEST] 250,000 200,000 50,000
OIS MK BHHEY L Sats o7 50,000 0 50,000
DIZYE SHEQ SHXIE HIHAY (BFRSIEXIR) 70,000 0 70,000
308 XHEISHHISOIH 70,000 0 70,000
01 KXISHIH2ES 70,000 0 70,000
O SHEY HXIE HHAI 70,000 0 70,000
HEES (BT (BB 2S/HIIS) 6,355,067 351,126 6,003,941
4% & 6,355,067 351,126 6,003,941
JIEFREII] MRIAL &X 6,355,067 351,126 6,003,941
311 XIQUB0IX+A & 351,126 351,126 0
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S BEEHD

FEH: NWIRES(SZIHN)(BEES/HOIZ)

cel: BEXE (=)
SA - FB . O(3) - HRAY - HAS O &k o4 Il E o HRz2

01 Al - S XL ISR 20| KHAHE 351,126 0 351,126
©'09M 2D A2tAIE EXI(XIEY) 200,548 0 200,548
©@'10M D] A2AIE EXI(KISIHY) 150,578 0 150,578
06 JIEIXt SOl Atatst 0 351,126 A351,126
©'09M D] ALAIE HX(SSAZ) 0 200,548 A200,548
©'10480] A2AIE HX(SSA2) 0 150,578 A 150,578
601 XU S4te 6,000,000 0 6,000,000
01 Al - EXIGIHLIISXL2 S A& 6,000,000 0 6,000,000
©'09M I AAAIE EXI(ZD| ARSI 3,000,000 0 3,000,000
©'1048D0] A2AIE EXI(ZD|AE-XI1S0HE) 3,000,000 0 3,000,000
802 Btet=JIEt 3,941 0 3,941
01 =mNEXZee=za 3,941 0 3,941
©'10 =25 AsFFHII| 2SN 3,941 0 3,941

- 199 -



